6 < VB2 <10 o 4AF 1, B4 19 GS W Fofofer,

v V. v Vv
0
L
=
I

6 < V8x2 <10
36 < 8x2 < 100
45<x®2 <125
=9

Sox =23




2. a<0dW, Vi - /(-2a)? & 2FS] S

@0 @ —6a ® 6a @ —4a ® 4a

Via - \/(~2a)? = \/(2a)? - /(-20)’
= —2a - (—2a)
=-2a+2a=0




ohe 1] F AFTE viEA) 73 AL BE nE?

© 5 I AFZ - x5
© (-3)2 A AFE >3
® VI6 | AFT - 4

H7]

@ 36 o] &9 AlEL — -6

@e.0 266 ®06 ®@o0e

® 6,

© (-3)2 O AIFZ 59 9 AFZ - +3
© VI6 o AFE - 4 o AFE - =2




4. \f(1-2v8) - /(3V3-4) & 8] shojet,

>
> HE: 8-5v3

2V3=V12<4= V16 < V27T =33 0]|B &

V(4-2v3)" - /(3v3-4)"
=4-2V3-(3V3-4)
=4-2V3-3V3+4
=8-5V3




7< V1022 <12 o] AU ], A4 x O] G BF FotH?

® +1 @ +2 @i3 @ +4 ® 5

B

7 < V102 < 12
49 < 10x% < 144
49<x% <144

=9

SLox==3




S % VA5 x 7t ARSI 5 she x o] o R 24 gL AL
T =29

@3 @ 4 ® 19 @26 G 36

15 +3 = VA8 = V2T x 3 o] Ho] AA47} 5] Feich
45+ 26 = V71 ©] Eo] AAAL7} &)= Bt




7.

a>0 A, kg AelA §7) ghe RS B mEY (

@ V6da® - Va® =Ta
@—\/97— V(=3a)? = ~12a
® /(7a)? + \/(-7a)? = 14a
@)(-V30)? + (- Vid?) = 8a
® (-V3a)* + (- /(2a)?) = a

@ -V9a2 - \/(=3a)2 = —3a — 3a = —6a
@ (-V3a)2 + (- V4a®) =3a+ (-2a) = a




3>2V20|28
)3—2@]—‘2«/5—3‘
=3-2V2+2V2-3=0




9. 2< VIx<d & WEohE 4G5 x0] A4k

©3H @44 @sAH @A  ©7A

2< Voax<4E4<2x<160°th WA 2 < x < 8 0|ER
A x =2, 3, 4, 5, 6, T2 67]°|ch




10, VIOFx 9 Ze] /1 2 47t SRS sk 45 x 9] g2

@ 2 @ 4 @6 @ 8 ® 10




S, a+b o 27 (Hoa, b

@1 ® 3 @7

1

1

240

®9

Ioh)




Vi<3=+90o|BR
V(VT-3) /(3= V7)
= |v7-3|- |3~ 7]
=—(V7-3)-(3-V7)
=-VT+3-3+ V=0




(-5)? o] FO AFTS a, VBT o S AFZS b, AFZ4E ¢

S F o, a+b-c 9 T Fotoft

(=5)2 =25 9] ¥ AFTa=5, V8l =9 9 29 AFZ
b=-3, AFT4E VAi=20|B2 c=2
La+b-c=5-3-2=0




14.

VBT TR ] ko] AT S| E S SHe AP A A x £

@ 4 @6 @9 @ 10

V36 O|B2 x = 6 °|T}.




15. a>0 0, /(da? - O + (- v2a)? & 7reks] ohw?

D -a @3a ® 5a @ a ® -3a

V(4a)? = \/(3a)2 + (V2a)?
= |4a| — [3al + 2a
=4a-3a+ 2a = 3a




